
 خلاصة البحث

 

 ض المتغيرات الم تبطتتتتتتة ةتتتتتت ل ئصتتتتتتة    ا   تتتتتتتتتتتتتتتتتت    استتتتتتتتتتتتتحاتتتتتتفة البحتتتتتتث ا  تتتتتت        تتتتتتة ا      

الستتتتتتتتتتتتتئس  تراتتتة لماتتت اتد جتتتتت ئتتت ت ة تتت ختلاة تتتتفاستتت ت ةتتتفا تتت   ستتت ةتتتة   ال لا    ا   تتت  تتتتتتتتتتتتت    

الستتتتتتتتتتتتتب ه   الأةلتحائض ئال ائفاة ةوتتتتتتتتتتتتتت الب تث  ت  اة    ال  وتتتتتتتتتتتتتئ ت  ةاخت ا  ائ   

لس وتتل   تتتل ل تتفات اال       ط ةت2000جتتتت ل وح  ا ا الص د التتاد  اتتفل را  بتت ادر اتت    

لط بة ا     ة    ال  اق   ضلا ا  إ س وئة استخفا    الى ة ض ط ياة لئك ت   ة لا   ا  ف

 او  ط ال لا ة لتفاس ت ةفا    س ةة   لا    خ       سب ه    ت  ا اتلالأ

د   ة  و  ط تفاس ت ةفا    س ةة لمائ   جتت ل وح  ا ا الص ء لا  فى ةل تحاض       

  ط لب  ةط لبة   تضتتتتتتتتتتتتت     خلا  ئاا 50طبض المائ   ة و  طل ال لا ة الى ائصة  س وة     

  الأالتطبئض ان ت  ئ  ت المائ   ةاض ة ل  تئبين  ة ا اتل   ه  ة لها ة لأو  ط ال لا ة 

ل  ائتتت   الى  ال لا تتتة ةلستتت  و ن    او تتت ط ت ا اال   قتتتفا   ااضتتتتتتتتتتتتتتت  تحاض البتتت تتتتثة     

اختيرت      طتتت لبتتت  ةطتتت لبتتتة480ستتتتتتتتتتتتتهتتتل   تتت  لات صتتتتتتتتتتتتتتتفقهتتت  الى ائصتتتة   ل تتتة     ةت  الت ئيز

 ال ش ائ     ط بة س   ة  غفادالأ الطبا  ة لأس  ب الم تل 

لمائ   المت   ة   ة ل تتتتتفق  ةال ب ت  ة   تتتتت  ا لاو  ط ة  ستتتتت ب ا   تتتتت    الستتتتتئس  تراة     

ا    س ةة   ال لا    ا  ستتتتتتتتت ستتتتتتتتتئة  ة تتتتتتتتتس  الت ب ت التك ااد ل فاس ت   ة حستتتتتتتتت  تفاس ت ةف

ة ستتتتتتخفا  ت تتتتت ئا الائ ستتتتت ت المتك ا   ل  ائ   ال لا ةجو  ط ا     تتتتت    الستتتتتب ه     طبض 

ال شتتتتتتتت ائ      الطبا  اختيرت ة لأستتتتتتتت  ب الم تل   ةط لبة   ط ل 1800الى ائصة  س وة     

 الأ ف   ط بة س   ة  غفاد    ل المتغيرات اس سئة ل  ئصة ةه    ا  ند ةالتخ   ةال

ةب ف تستتتت ب ا   تتتت    الستتتتئس  تراة لس   تة     ت ت  تغيرات ا  ند      ا   إو         

و ن      ةجخت تتتتتتتتت ،   ا ن    إلستتتتتتتتت ل   ةال تتتتتتتتتف   اة  ةال  ل  ةال  لث ةال ا ت   ة      

بطة   ال لا   ةا        ةالسب ه     اتض  ان ال  ةق ةين  ت ت المتغيرات الم تجو  ط ال لا ة 

ة ل ئصة   ا  ند      ا   إو     ةالتخ تت    ال  ن     لستت ل    ةال تتف   اة    ال  ل    

ا   تتت    الستتتئس  تراة المت   ة   ة ل تتتفق   ةال ب ت       خ تتتئ تتتة    ال  لث   ال ا ت     

اصف  ة   تتتتتتتتتت  ا  ستتتتتتتتتت ستتتتتتتتتتئة   ة تتتتتتتتتتس  الت ب ت التك ااد ل فاس ت     لا تك  ةفلالة إت تتتتتتتتتت  ئة

إ ى  تت ت إت تتتتتتتتتتتتت ئ       تغيرات ال ئصة تنتن   ت ت     تغير  لك   ن  لا  0.05   ستتتتتتتتتتتتتت ى 

 ةاتفالأ

ة   وتتتتتتت ء وت    البحث   استتتتتتتتنت  الب تث ان ا   تتتتتتت    الستتتتتتتئس  تراة ل  ائ   المت   ة      

   التفاج  ااثر     التفاج ا     تتتتتت     تس ن  ه    ضتتتتتت  ةة ل تتتتتتفق ةال ب ت ة   تتتتتت  ا  ستتتتتت ستتتتتتئ

ةان  ا اتد جتت ئ ت ت تتتتتتتتتتتتته  لائ   جتت ل اصف  ت ت  تغيرات لستتتتتتتتتتتتتب ه  ال لا   ةالتفاج ا

 ال ئصة الت  تص ةله  البحث ا      س ئ ه  الأ



لتتتتتاا ا لتتتتتتتتتتتتت   البتتتتت تتتتتتث ةت تئتتتتتف  تتتتتت ت المتغيرات الم تبطتتتتتة ةتتتتت ل ئصتتتتتة المت   تتتتتة   ةتتتتت   ند        

ة ةالتخ تتتتتتتت   ةال تتتتتتتتف      تستتتتتتتت ب ا   تتتتتتتت    الستتتتتتتتئس  تراة لما اتد جتت ئ ت ة  ختلا 

تفاس ت ةفا    س ةة   ال لا    ا     تتتتتتت    الستتتتتتتب ه     ةاستتتتتتتتخفا  التفاج ا     تتتتتتت   لبفا   

  س ةة اصف ةص ء  ا اتد جتت ئ ت لط بة ا     ة الى ة ض ط ياة لئك ت الأ 

  تتت  اس اء   ااترح البتتت تتتتث إس اء دااستتتتتتتتتتتتتتت ت لاتاتتتة  ةتط ي ا لتتتل ةإا تتت لا ل بحتتتث ا  تتت           

ت    ا ى  اخ ى   ةدااستتتتتتتتتتتتتة الفااستتتتتتتتتتتتتئة جخ ى  ت احث ا      الى ط بة الم  دااستتتتتتتتتتتتتة      ة ل ب

اة     ة ا   المتغيرات الم تبطة ة ل ئصة    ا   تت    الستتئس  تراة لما اتد ستت  ت ال تت  تتئة 

تستتتتتتتتتتتتتتخف  خ تتتتتتتتتتتتت     خ ى ل  ئصة  ير الت        ة ل بحث ا        ةدااستتتتتتتتتتتتتةالافاات ال ا ئة

 ةجوحفاا جست  ه     فاصة  ايف  الأ ةالا  ء  لة جقت  داة تص ةله  البحث ا           ا  

 


